Assignment 3:                                                        
1. Do problem 5.4 on page 187 of the textbook

2. Disabling interrupts is not the best solution to the mutual exclusion problem. Explain why?
3. What do we mean by "race condition" in process synchronization?
4. How can you implement a counting semaphore using mutex? 
5. Strict Alternation ensures mutual exclusion, but have disadvantages. Explain these advantages.
6. In Round Robin Scheduling: long time quantums end up causing jobs to be taken essentially in First-Come-First-Served order. 
a. Agree or disagree? Explain your answer and be specific?

b. It is best to set the time quantum to be absolutely as short as possible to get maximum usage out of the CPU. Agree or Disagree with this statement, and explain your decision?
7. The following is a semaphore solution to the readers-writers problem:

 semaphore mutex = 1 

 semaphore wrt = 1   

 int variable: readcount = 0 

0 Reader: P(mutex)
1          readcount = readcount + 1
2          if readcount == 1 then P(wrt)
3        V(mutex)
4          <read database>
5        P(mutex)
6          readcount = readcount – 1
7          if readcount == 0 then V(wrt)
8        V(mutex)


9 Writer: P(wrt)
10         <write database>
11        V(wrt) 

a) If you have 1 Reader reading the database at line #4, and 2 Writers show up, what will happen to the Writers?  When will the Writers access the database?
b) The above solution can cause a starvation problem.  Point out how this situation is possible.
